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1) Let X,Y ~ f_\—)—(tl s tg). Choose the correct statements from the following: VIQ /\4/\9 CDV't\(JﬁQV\ ‘S Vz)‘ %O&%g(’?e é QD(‘ O\V\d Oc

\%f fxv(ti,t2) # fx(t1)fy(t2), forsomet; € Tx,ts € Ty, then X and Y are dependent.
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O fxy(ti,t2) = fx(t1)fy(t2), for somet; € Tx,tp € Ty implies X and Y are independent. X é' \/ " )(V\ M *

i/f_\'y(tlvtz) = fx(t1)fy(t2),for allt; € Tx,ty € Ty implies X and Y are independent. &Q@v\&‘/\)\'

& f X andY are independent, fy x—¢, (t2) = fy (t2).
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2) Let X and X, be two discrete random variables with joint PMF fy, x, (£1,2) given in Table 2.1.1. Identify the corre ements from the following
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Table 2.1.1: Joint PMF of X, and X,. b\ %

o frx(12) = i (0F62): o))

0 fxn(,3) = W), ) >z 1 —( = O
O X and X are independent.
\/Xl and X are not independent. TQ_ h :O )
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3) Let X and Y be two independent random variables such that fyy—;, (t1) = 0.02 and the marginal PMF fy (t3) = 0.6, for t € Ty. Calculate fx(1).

J@@B G\ e sowe og fﬁ\vﬂh_cj.x lecoma se X awd Y
oce ‘W\Ae()ev\éemh

=) ﬁ((glv — fY\Y:&;<§‘\> = Q0%

1 2
4) Let the random variables X and Y be independent and let they take values in {1, 2, 3} and {1, 2}, respectively. If fx(1) = fx(3) = 1 and fy(2) = 5 , which of the following can 1point

be the joint pmfof X and Y ?
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=S Ay (,2) = A . Fy(r) = o= o
= JCX7 <3)2~>: JE\((%>, Fy(2) = %o = Vo
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